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_CommentsAssignment4 _ p24, *2)flo) to

f(l)=60
th)=120
+137 t180= 3.60

=- 1.60 2.10

f/4)=240=4.60
f15)== 5-60
hY7)= =137.60V| f (X)=

X.60=50.X

.



0Domain 8-0.50Feel
m0 _ 60
- 2-60

- 60.60+3600
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Is
1)the vertexof SCX) seems to
havebeen translatedï

2)she) is "wider":

2) gototurkey
#1 morestepsto sight
IIIjalaidthow nod itgrows up
IIIIN) Compare with fix)

Gotta's

(4).

(2)

0.5r, make) 0gin)to grow
Shower"" thanfa).

Henceg(y) is wider!



" hlx)= 2 1×-42Compare toïhe base quadraticfix-it
and explainthe transformationsneededto go contralto
he)of Plot it with Ge.ogebra

b) IS therea translation?' Yes.to the right4units
the vitexof he) is (410)
Instead of (00)

/

C) There9Dilation?Yes
because at S.. 4d) Is it stretching orcompression?Itis harrowing£=Compressing)



Stetching =
",x

"widening"~
Uslower south"

"Compressing"^
4

narrowing's"faster growth"


